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20. 1) Police said that / 2) the seized counterfeit currency
notes looked / 3) so genuine that / 4) anyone could have
been misled. / 5) No error

21. 1) The committee has / 2) asked for more mfunnatmn and

/3) will again consider / 4) the entries on the next meeting.

/ 5) No error

1) Looking for/2) a hnuse onrent/3) in the mty has/4)

never been an easy job. / 5) No error '

1) One could not / 2) imagine striking / 3) this kind of a

bargain / 4) last year or the year early. / 5) No error

1) The monsoon showers and / 2) the fell in temperature

/ 3) have brought a smile / 4) on many faces. / 5) No error

1) Schoolchildren in the city /2) were in for a surprise as

they were / 3) treated to a feast of some children’s films

/ 4) being screen in local theatres. / 5) No error

Directions (Q. 26-40): Read the following passa ge

carefully and answer the questions given below it. Certain

words/group of words have been printed in bold to help you
locate them while answering some of the queltiuns. |
Unemployment is the problem of every 'modern natmn
Even industrialised nations are not able to ensure a job for
everyone. Following the conventional strategy of creating
employment, governments of many developing countries try
to attract employers (business houses/industrialists) by
offering tax rebates and many other facilities so that they locate
theirupcoming plants on their soil, and thereby create industrial
employment. But there is a limit to what industry can bring.
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Also, industrial plants often create toxic waste whichresults in -

air and water pollution and environmental problems which can
outweigh whatever employment benefit industrial employment
brings. In addition, they don’t bring as substantial reliefto the
dwindling economy of the host country as they seem to promise,
as the profits of such foreign investments are carried back to
the parent company and fureign shareholders abroad.
Self-employment has none of these drawbacks. The
problem is that self-employment is not as obviously
glamorous as a shiny new factory. But profits from self-
emplnyment remain in the country where they are produced
It is too small to create environmental hazards. It also puts
the poor person in charge of his or her own working hours
and conditions. The hours are flexible and can adapt to fit
any family situation. It allows people to choose between
running a business full-time, or part-time when they face a
crisis, or to put their business on hold and work full-time for
a salary. Self-employment is tailor-made for anyone who is
street-smart and has many acquired and inherited traditional
skills, rather than learning acquired from books and technical
schools. This means the illiterate and the poor can exploit
their strengths, rather than be held back by their weaknesses.
It allows a person to turn their hobbies into gainful
employment. It allows individuals who cﬂnnnt work well ina
rigid hierarchy to run their own show. B T
Financing the poor to start their own little ventures
elevates their sense of pride and self-respect. It offers a way
out of welfare dependency, not just to become wage slaves,

but to open a store or start a manufacturing business. It can
help*those who have found a job and are still nonetheless

poor. It gives the victims of prejudice who would not be

hired because of their colour or national origin a chance to
earn a living. The average cost of creating se!f—emplnymcnt
is ten, twenty or hundred times lesser than creating industry-
based employment. It helps isolated pnur people gain self-
confidence step by step.

Obviously self-employment has limits, but inmany cases
it is the only solution to help those whom economies refuse to
hire and taxpayers do not want to carry on their shoulders. The
policy needed for the eradication of poverty must be much wider
and deeper than the policy for the provision'of mere employment.
The real eradication of poverty begins when people are able to
control their own fate. Poor people are like bonsai trees. When
you plant the best seed of the tallest tree in a flower-pot, you
get arephca ofthe tallest tree, only inches tall. There is nothing
wrong with the seed you planted; nnly the soil-base that is too
inadequate. Poor people are bonsai people. There is nothing
wrong mthcu'-saecls Simply, society never gave them the base
to grow on. All it takes to get the poor people out of poverty is
for us to create an enabling environment for them. Once the
poor can unleash their energy and creativity, poverty will
disappear very quickly. ,

Directions (Q. 26-28): Choose the word/group of words
which is MOST OPPOSITE in MEANING to the wurd!grqup
of words printed in bold as used in the pnssnge. |
26. RIGID

1) Unstructured 2)Flexible = 3)Soft
4) Gentle 5Calm

27. STEPBY STEP

“‘1)Allatonce 2) In quick succession

3) In slow motion ~4) In a nutshell
5) Once and for all | | -’

28. OFFERING

1) Stealing 2) Permitting  * 3) Refusmg

4) Protesting 5) Questioning

Directions(Q. 29-31): Choose the wo rdfgmup of words
which is MOST SIMILAR in MEANING to thewnfd printed
in bold as used in the pﬁssage. iy o

- 29. REMAIN i : |
1) Leﬂ-uv:r 2)Stay 3) Stagnate
- 4) Continue 5) Linger e

30. HIRED | B

1) Allowed 2) Rented 3) Authorised
' 4)Employed  5) Delegated Y
31 "LIMIT "

1) Maximum 2) Finish 3) Cap e

4) Decrease 5) Barrier |

32.° Which of the following is a reason foreign mveatmcnts
do not strengthen the economies of host nations?
) The parent company pa}rs all the proﬁt ﬁ‘s tax to its
“nation. |
2) The profit of such enterpris:s does not remain in the
host nation; rather it goes back to the share holders
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1)69 2)65 3)61 4)55 5)51
84. What is the average number of employees in Accounts,
Admission and Research department together?
11722 2)1742 3)1786 4)1784 5)None of these
85. What is the difference between the total number of
employees in the department of HR and Admission
together and the total number of employees in Accounts
and Examination department together?
1)2268 2)2464 3)2286 4)2644 5)None ofthese
Directions (Q. 86-90): Study the table carefully to
answer the questions that follow:
Number of Research Papers and Articles published
by six different scholars (person) in five different journals

Juurn- Frontier | Educon |New Era|Eduforms

27| 45
V"a 16 | 35

39|

Neeta| 48 | 32 | 28 | 30 E
Ronit | 13] 23] 29| 21 56
86. How much more is the approximate percentage of the
number of Research papers that were published by Neeta
in Educon as compared to the number of Research papers
that were published by Vijay in Eduforms?
1)52 2)42 3)152 4)147  5)47
87. What is the difference between the total number of
Research papers published by Anand, Vijay and Neeta
together in Educon and the total number of Articles
published by Mohan, Naidu and Rumt together in
Edutrack?
D33 2)27 3)32  4)29  5) None of these
88. Who published the third highest number of Research
papers and Articles together in Eduforms?
1) Anand 2) Vijay 3) Neeta
4) Mohan 5) Naidu
89. What is the average number of Research papers
published by all the six scholars together in Frontier?
D4 2)16 3)17 4)15  5)None of these
90. The total number of Research papers and Articles
together published by Mohan in Edutrack is
approximately what percentage of the total number of
Articles published by all the six scholars together in
New Era?
1) 145 2)117 3137 4132 5124
Directions (Q. 91-95): Study the following graph
carefully to answer the questions that follow:
Runs scored by three different teams in five
| different cricket matches. -
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91. The total runs scored by India and Australia in Match 4
together is approximately what percentage of the total
runs scored by England in all the five matches together?
1)42 2)18 3)36 4)24 5)28

92. In which match is the difference between the runs scored
by Australia and England the second lowest?

1) Match 1 2) Match 2 3) Match 3

4)Match4 = 5)Maich5

93. In which match are the total runs scored by India and
England together the third highest/lowest?

1) Match 1 2) Match 2 3) Match 3

4) Match 4 5) Match 5
94. What is the ratio of the runs scored by India in Match 5,

Australia in Match 1 and England in Match 2?

D11:13:7 211703 3)11:3:9

4H11:13:9 5) None of these

95. What is the average runs scored by all the three teams in
Match 3 together?

1)280 2)270

4)285 5) None of these

Directions (Q. 96-100): Study the information carefully
to answer the questions that follow.

In a school there are total 120 staff members and 800
students. 65 per cent of the number of staff members are
teachers and the remaining staff members are administrative
officials. Out of the total number of students 45 per cent are
girls. Twenty per cent of the number of girls can speak only
Hindi. The remaining girls can speak both Hindi and English.
Three-fourths of the number of boys can speak only Hindi.
The remaining boys can speak both Hindi and English. Two-
thirds of the number of teachers are males. Five-fourteenths
of the number of administrative officials are females.

96. What is the difference between the number of boys
(student) who can speak both Hindi and English and the
number of girls (student) who can speak both Hindi and
English?

D164 2)178 3)188 4)174  5) None of these
97. The total number of girls (student) is what percentage of

the total number of staff members in the school?

- 1)350 2)300 3)400 4)450  5) None of these

98. What is the difference between the total number of female
administrative officials, female teachers and the number
of male administrative officials?
DI6: 2)12 3)18 414

3)275

5) None of these
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